

Page 1 of 1

Florida Department of Transportation

Vendor Ranking

02200916 Letting:

September 16, 2020 11:00

E2Z90 Contract:

AM

District 2

Call Order: 006

Fed Aid No: N/A

District:

Counties: DIST/ST-WIDE, **GILCHRIST**

Project(s): 41021827222 (*)

Contract Time: 90 AVAILABLE DAYS Contract Desc: Remove, dispose of and reconstruct concrete sidewalk

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AMERICAN DESIGN ENGINEERING CON	Responsive	Winning bid	\$30,927.90	100.00%
2	BURNETT CIVIL CONTRACTING OF FL	Responsive	Non-Winning Bid	\$31,600.00	102.17%
3	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$38,410.00	124.19%
4	LAS CONTRACTING CORP	Responsive	Non-Winning Bid	\$42,722.00	138.13%
5	LIVE OAK MANAGEMENT GROUP L.L.C.	Responsive	Non-Winning Bid	\$75,430.00	243.89%
6	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$97,840.00	316.35%
7	SPARKS CONCRETE, LLC	Responsive	Non-Winning Bid	\$102,970.00	332.94%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 4

Letting:02200916September 16, 2020Call Order:006Contract:E2Z90District:District 2Counties:DIST/ST-WIDE,Fed Aid No:N/A

Contract Time: 90 AVAILABLE DAYS GILCHRIST Project(s): 41021827222 (*)

Contract Descr: Remove, dispose of and reconstruct concrete sidewalk

Furnish materials, equipment, labor, and incidentals to remove, dispose of, and reconstruct concrete sidewalk in Trenton Fl.

BID EXPRESS MANDATORY.

Line No / Item ID Alternate Quantity Item Description Units		(1) AMERICAN DESIGN ENGINEERING CON		(2) BURNETT CIVIL CONTRACTING OF FL		(3) WRANGLER CONSTRUCTION INC.	
() indicates item is bid as Lun	np Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(CONCRETE S	IDEWALK REPAIR	R (SY				
0005 0522 1 CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	336.000 SY	50.00000	16,800.00	50.00000	16,800.00	70.00000	23,520.00
0010 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	130.000 SY	64.83000	8,427.90	70.00000	9,100.00	78.00000	10,140.00
0015 0527 2 DETECTABLE WARNINGS	190.000 SF	30.00000	5,700.00	30.00000	5,700.00	25.00000	4,750.00
0001 CONCRETE SIDEWALK Section Totals: REPAIR (SY)		ı	\$30,927.90 [']		\$31,600.00		\$38,410.00
Cont		\$30,927.90		\$31,600.00		38,410.00	

Tabulation of Bids

Florida Department of Transportation

09/24/2020

Page 2 of 4

Letting:	02200916	September 16,	2020 Cal	l Order: 006		Contract:	E2Z90	
Line No / Item ID Alternate Quantity Item Description Units		(4) LAS CONTRACTING CORP		(5) LIVE OAK MANAGEMENT GROUP L.L.C.		(6) MIDWESTERN CONSTRUCTION, INC		
	item is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(CONCRETE S	IDEWALK REPAIR	R (SY				
0005 0522 CONCRETES DRIVEWAYS	SIDEWALK AND	336.000 SY	72.00000	24,192.00	120.00000	40,320.00	190.00000	63,840.00
0010 0522 CONCRETES DRIVEWAYS	SIDEWALK AND	130.000 SY	87.00000	11,310.00	216.00000	28,080.00	225.00000	29,250.00
0015 0527 DETECTABLE	7 2 E WARNINGS	190.000 SF	38.00000	7,220.00	37.00000	7,030.00	25.00000	4,750.00
0001 CON	ICRETE SIDEWALK REPAIR (SY)	Section Totals:	l	\$42,722.00		\$75,430.00		\$97,840.00
	Contract	Grand Totals:		\$42,722.00		\$75,430.00		97,840.00



Florida Department of Transportation

09/24/2020

Tabulation of Bids

Page 3 of 4

Letting:	02200916	September 16,	2020 Cal	l Order: 006		Contract:	E2Z90	
	No / Item ID Alteri Description	nate Quantity Units	(7) SPARKS CONCRETE, LLC					
	cates item is bid as Lump S	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (CONCRETE SIDEWALK REPAIR (SY								
CONCRE	0522 1 TE SIDEWALK AND AYS, 4" THICK	336.000 SY	175.00000	58,800.00				
CONCRE	0522 2 TE SIDEWALK AND AYS, 6" THICK	130.000 SY	198.00000	25,740.00				
	0527 2 ABLE WARNINGS	190.000 SF	97.00000	18,430.00				
0001 CONCRETE SIDEWALK Section Totals: \$102,970.00 REPAIR (SY)								
	Contract	t Grand Totals:	1	\$102,970.00				



Florida Department of Transportation

09/24/2020

Tabulation of Bids

Page 4 of 4

Letting: 02200916

September 16, 2020

Call Order: 006

Contract:

E2Z90

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.